| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

0 ]
£
e
[~ o
e s 5
3
o ]
= O |x o
= e —
EY [To) >
2
g
o =
o 2
1 8
= E
=1 1%}
! <
LD o
R 8
(=] °
unﬂ_ m
sl
9 H .
) 2
c K =
z| syoen areddnp
n o
Ne ¥
.:o o
."2(
. Wa o
HERS I
oS
s (e}
= ©
= S >
-0 :
o - o
[te] 4 =
n_u ==—]o
= i =1
It) N N
i . . o
| PR (1
S . )
! . .
LD 1 IR (=4
N - -t
| ] |
Q= 5]
£
IS
[~ o
23 ~
3
o —
— O N o
s |8 =
[t} g
o
2
o g
i g
3
=}
b s
s g
e =
! 3
Q ®
h N S
. ) w
PP 4 2
- s! 5 o
N z| syoelenn
S\II
N
£
o O
QL
= o
55 ~
3
(=]
- £
Lo
o
e}
[
=] S
T2
LD
bl Il
IS 8
o e
oy od L0 9
N bul
= | <]
Z|

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)




	Contents
	Page 1


